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Note: Answer All Questions
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L

of due to unit step-input to a type 1 system is

Q1 \ The steady state error
A 1 B | Zero
1+ Kp
C 1 D |e
Kp

Q2 | The Routh criterion is used to determine

A \ Peak response of the system
C \ Absolute stability of the system

B Time response of the system

D | Roots of C.E. graphically

r function 1/s(1+s) is:
B | Type 1 and order 1 ]

Q3 \ The system with the open loop transfe

A | Type2andorderl

D | Type 1 and order 2

Type 0 and order 0

Q4 | When the unit step response of a unity feedback control system having forward path transfer

function G (s) =80/s(s+18) is called ......
A | Overdamped system

B | Critically damped system

D | Un Damped oscillatory system

C | Under damped system

hen the output is not equal to input is called :

WS The initial response w
B Error response

A | Transient response

C | Dynamic response D | Either of the above

Q6 | Transfer function of a system is used to calculate:

A | Number of blocks B Peak overshoot

C | The output for any given input D | Time domain

Consider the characteristic equation of a linear system, check how many roots in R.H.S of

Q7
the equation using Routh stability test:
284+S3+38*+558+10=0
Fx [ Two B | One
{ C | Three D |Zero
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Q8 Consider a closed loop second-order system with the transfer function T(s) = porrTEmy Find
the settling time for 2% tolerance
A | 0.24 sec, B 0.75S sec.
C | 4sec D 2.67 sec.
Q9 | Standard test signals in control system are:
A Impulse signal B | Unit step signal
C | Ramp signal D | All of the mentioned
Q10 | The steady state error ( ess()) for unit ramp , —
is: Rs) + <0 Es) 672 5735) CGs)
—-———. - =
= s(st6)(s+T)(s+8)
A 10 B 0.2
C 20 D 0.1
Q11 | By using Routh creteia the stability of C.E. 38°+58+65*+38+1=0 is
A Stable B | Marginally stable
C Unstable D | Absolut stable
Q12 | If the poles of a system are lying on the imaginary axis in S-plane, the system will be
A stable B | unstable
C conditionally stable D marginally stable
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Q13 | The time required for the response to re
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the angle B equal

the.... ach 50% of the final value in the first time is called
A |RiseTime ~~—— —— —
B | Settling Time
C Peak Time D | delay time
Q14 | The Damped Natural Frequency is
A W1 — z B B.W
C |ty b ¢

Q15 | For the systems with the second order transfer functions, having damping ratio () equal 0.707

A B=0.25nrad

B

p=50°

C B=mrad

D

B=60°

ratio (§)=0.5, the value of gain (K) equal

Q16 | For the systems described by the following second order transfer functions, having damping

c(s) _ 100.

I T = R(s) = 5T+ K5 +100
l A K=0.1 B |[K=100
[ C K=5 D |K=10

G(s) with unity-feedback
G(s) =

Q17 | Determine Kr, Kv and Ka for the step, ramp, and parabolic error constants of the following

K

5(1+0.15)(1+0.55)

A Kp= G0, szlo, Ka=0

B

Kp=0, Kv=10, K.= o0

C Kr=1, Kv=k, Ka=0

D

Kp =00, Kv=K, Ka=0

Q18 | If the response of a control system is was shown, then the system

will be ...........
A Bounded input — bounded output B unbounded input — bounded output
C Bounded input — unbounded output Unbounded output
3-4|Pa gre
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Determine a rang of values of a system

S3+382+3S+1+K=0

A method to find the stability without solving for the roots of the system is calleq

parameter K for which the system is stable:

The required by the response to reach from 10%
_ delay time
_ settling time
The fi

L

-1<k<s§

3<k<3

oots of the system is called

------------

Bode plot
Routh criteria

to 90% of its final value is called:
B settling time

Rising time
1, 0.5, 2] 1t means there
B | Three roots In the right half of s-plane

Four roots in the right half of S-plane

B [04a
L e —

ystem are gradually changing function of time,

Q22 st column element of the Routh table is: [3,5, -
A Two roots in the right half of s-plane
C One roots in the right half of s-plane
Q23 | The maximum overshoot of 36/(S? + 2§ + 36)
A 0.587
C 0.1
Q24 | 1t the inputs to a control s
signal will be
Step

then the best test

Impulse

Parabolic

. X . C(s) _ (s+ 6) . .
Consider a system with transfer function RG) KS2 4546 The value of damping ratio ©
Wwill be 0.5 when the value of k js
B |1/4
Ay
C 8 D |1/6
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